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0.27 5.2 1.40
16 H 2| 1.8730
15 H 3] 1.8009

14 H 4] 17317 0.78 1.35

13 H 5| 1.6651 0.20 0.34

12 H 6] 1.6010 0.11 0.17

11 H 7] 15395 1.76 2.71

10 H 8| 1.4802 0.19 0.29

9 H o] 1.4233 1.31 1.86

8 H 10| 1.3686 3.06 4.19

7 H 11] 13159 2.53 3.33

6 H 12| 1.2653 2267 28.68

5 H 13 1.2167 6.74 8.20

4 H 14| 1.1699 12.21 14.28

3 H 15| 1.1249 4.64 5.22

2 H 16| 1.0816 7.09 7.66

1 H 17 1.0400 5.66 5.89
H 18] 1.0000 1.81 1.81 0.21 0.21
1 H 19| 009615 7.76 7.46 0.21 0.20
2 H 20| 0.9246 7.76 7.17 0.21 0.19
3 H 21| 0.8890 7.76 6.90 0.21 0.19
4 H 22| 08548 7.76 6.63 0.21 0.18
5 H 23] 08219 7.76 6.38 0.21 0.17
6 H 24| 0.7903 7.76 6.13 0.21 0.17
7 H 25| 0.7599 7.76 5.90 0.21 0.16
8 H 26| 0.7307 7.76 5.67 0.21 0.15
9 H 27| 0.7026 7.76 5.45 0.21 0.15
10 H 28] 06756 7.76 5.24 0.21 0.14
11 H 29| 0.6496 7.76 5.04 0.21 0.14
12 H 30| 0.6246 7.71 4.82 0.21 0.13
13 H 31| 0.6006 1.34 0.80
14 H 32| 05775 1.34 0.77
15 H 33 05553 1.34 0.74
16 H 34| 05339 1.34 0.72
17 H 35| 05134 1.34 0.69
18 H 36| 04936 1.34 0.66
19 H 37| 04746 1.34 0.64
20 H 38| 04564 1.34 0.61
21 H 39| 0.4388 1.34 0.59
22 H 40| 04220 1.34 0.57
23 H 41| 04057 1.34 0.54
24 H 42| 0.3901 1.34 0.52
25 H 43| 03751 1.34 0.50
26 H 44| 0.3607 1.34 0.48
27 H 45 0.3468 1.34 0.46
28 H 46| 0.3335 1.34 0.45
29 H 47 0.3207 1.34 0.43
30 H 48] 0.3083 1.34 0.41
31 H  49] 0.2965 1.34 0.40
32 H 50| 0.2851 1.34 0.38
33 H 51| 02741 1.34 0.37
34 H 52| 0.2636 1.34 0.35
35 H 53] 02534 1.34 0.34
36 H 54| 0.2437 1.34 0.33
37 H 55 0.2343 1.34 0.31
38 H 56| 0.2253 1.34 0.30
39 H 57| 02166 -32.64 -7.07 1.34 0.29
131.17 151.70 38.91 15.83

| 163.81 | 3891
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0.27 4.4 1.19
14 H 17| 1.0400
13 H 18 1.0000

12 H 19 09615 7.76 7.46

11 H 20| 09246 7.76 7.17

10 H 21| 0.8890 7.76 6.90

9 H 22| 08548 7.76 6.63

8 H 23] 08219 7.76 6.38

7 H 24| 07903 7.76 6.13

6 H 25| 0.7599 7.76 5.90

5 H 26| 07307 7.76 5.67

4 H 27| 07026 7.76 5.45

3 H 28] 06756 7.76 5.24

2 H 29| 06496 7.76 5.04

1 H 30| 06246 7.71 4.82
H 31| 06006 1.13 0.68
1 H 32| 05775 1.13 0.65
2 H 33| 05553 1.13 0.63
3 H 34 05339 1.13 0.60
4 H 35| 05134 1.13 0.58
5 H 36| 04936 1.13 0.56
6 H 37| 04746 1.13 0.54
7 H 38 04564 1.13 0.52
8 H 39| 04388 1.13 0.50
9 H 40| 04220 1.13 0.48
10 H 41| 04057 1.13 0.46
11 H 42| 03901 1.13 0.44
12 H 43| 03751 1.13 0.42
13 H 44| 03607 1.13 0.41
14 H 45| 0.3468 1.13 0.39
15 H 46| 03335 1.13 0.38
16 H 47| 03207 1.13 0.36
17 H 48] 0.3083 1.13 0.35
18 H 49| 0.2965 1.13 0.34
19 H 50| 0.2851 1.13 0.32
20 H 51| 02741 1.13 0.31
21 H 52| 02636 1.13 0.30
22 H 53] 02534 1.13 0.29
23 H 54| 02437 1.13 0.28
24 H 55 02343 1.13 0.26
25 H 56| 02253 1.13 0.25
26 H 57| 02166 1.13 0.24
27 H 58 0.2083 1.13 0.24
28 H 59| 0.2003 1.13 0.23
29 H 60| 01926 1.13 0.22
30 H 61| 01852 1.13 0.21
31 H 62| 01780 1.13 0.20
32 H 63 01712 1.13 0.19
33 H 64| 01646 1.13 0.19
34 H 65 01583 1.13 0.18
35 H 66| 01522 1.13 0.17
36 H 67| 01463 1.13 0.17
37 H 68| 01407 1.13 0.16
38 H 69 01353 1.13 0.15
39 H 70| 01301 -11.00 -1.43 1.13 0.15
82.05 7136 45.20 14.00

| 93.05 | 45.20
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